Db, 20.07.2)
~ ENRICEMENT ACTIVITIES

SUBTRACTION Do t¢n book

A. Tick (|/) the correct option.

A book has 62 pages. Amit has read 47 pages. How many pages does
Amit still have to read?

62 - 47 o) 47-62 )

There are 35 étudents n Class 2B. 28 students are taking part in a
play. How many students are not takmg part?

T v J | 13 )
Sixty-eight minus thirty is | |
30-68 ) 68 — 30 \}
14 less than 16 |
16+14 ) | . 1614
B. Find the difference. ,
9@\’0
|
2 4 9 g | 8 9
= 4 — 128 - 23 | - 23
2 3 2 4 35 | 6 &
T\ o ~\ 3
6 4- 9 8 LY 73
— 2.4 - Sl -39 | -4.3
_ 4% 60 A2 ) 215
“ A4 53\ ﬁ
8 0 X X 6 & 6 8
- 58 - g il W ~ 3 i
< 0 RS 6 | 3 8




C. Solve these word problems, Do tn BOD K

There are 35 plants in ‘our balcony. If 14 have flowers,
how many"'Tants are without ﬂowers"?'- o

3-, 5 total plants

= ﬁ plants with flowers '
) lants without fi flonts
P OWES  There are <\ without flowers.

Dad bought@_eggs to bake a cake. He used@eggs.
How many eggs were left?

' 2, eggs bought
- & eggs used
_ 0 4 cggsleft Ang - _O&  egps are left,

D. Write the letter alongside the answer to solve the puzzle. ‘
15. 10 12 13 11 16 14 17 18
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